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The output at time  for o system is abtained by acemmulating the valies of the input fram
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Problem 2

1 1t

For the following questions, determine if the signals are periodic or not. If periodic. find their

fundamental period.
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Problem 4
Find the convolution of the signals given beloy

\; a i x(t)

u(t)

i n(t) =c*tu(l)

ol —
g Ld(‘ty = O t L0
.{:
-2T
Ldu) = S ¢ dT 620 o
© N gm(,-( '
- el [ -2T :
- E[Q ]O
= ["' &—zt -6>/O -
2
Wy - -t
(W= T ey e 5 e
2
\b/ b aln) = 6{n] + 8fn + 1) + gn — 2]

ii hin] = uln)

‘d['ﬂ]= C—n] % W]

LQI’“]-\- Q[_qrw\]—\ Q[fn ),]> * &i‘*ﬂ

aln] + (,L'[en-H] ¥ u.[f\r\-lj_

Tl

-\019.317

Scanned by CamScanner



Problem 5
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1S, 1) Sketeh 2uf-u-1] where ufn] is a unit step function
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